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=] 82 0 34 0 48 0 24 0
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FEE L ] 493 0 267 0 226 0 292 2
FEH] 28 -2 16 -1 12 -1 16 -1
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piadiil] 226 3 115 2 111 1 119 1
ZH] 148 -2 67 -2 81 0 64 -2
12 ST 484 -6 241 -5 243 -1 233 -4
#rH] 87 3 39 1 48 2 50 1
1GHaH] 107 -4 52 -1 55 -3 37 -1
FASRH] 164 2 80 3 84 -1 92 1
—&T 0 0 0 0 0 0 0 0
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FRiEH] 1,775 -7 911 -7 864 0 793 -2
$TERH] 416 -2 193 -2 223 0 177 -1
FHASTH] 3,567 -1 1,761 -8 1,806 7| 1,573 -3
HIFEH] 2,429 25| 1,159 16 1,270 9 993 15
VIR ] 2,085 4 998 0| 1,087 4 660 -2
JNFaHETE 4,894 4 2,381 -3 2,513 71 1,921 15
Gk 2,113 -20] 1,026 12| 1,087 -8 848 -4
EBZRH] 9,584 -15| 4,657 15| 4,927 0] 3,693 11
=H] 3,981 12| 1,951 9] 2,030 3] 1,518 12
JREHET 1,174 7 601 2 573 5 496 10
EREFHTER — 2,588 -19] 1,234 14| 1,354 -5 892 -2
EREFH]ER 7Y 1,890 17 917 17 973 0 692 12
EREFHET a7 586 -6 287 -4 299 -2 212 -1
EaKH] 5,678 91 2,683 3| 2,995 6] 1,964 7
B AOE] 158 3 151 2 7 1 146 0
ERH] 16 -1 8 -1 8 0 10 -1
=IRE—TH 390 3 203 -1 187 4 179 4
ETRE”-TH 294 1 130 0 164 1 137 0
EIRE=TH -1 0 -1 0 0 0 -1 0
E1TREUTH 0 0 0 0 0 0 0 0
EIREATH 230 0 112 1 118 -1 78 1
FES 0 0 0 0 0 0 0 0
TEE—TH 388 -4 178 -2 210 -2 181 -2
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FARE]—TH 264 -7 137 -4 127 -3 147 -2
AR —TH 432 -10 224 -5 208 -5 236 -2
FZH—TH 131 0 61 0 70 0 56 0
FHZTH 326 -6 153 1 173 -7 155 -1
[REEIH 303 -1 142 0 161 -1 218 -1
FEE—T B 126 8 63 4 63 4 64 2




PR — T H 256 -2 109 -1 147 -1 94 -2
HFFET— T B 582 2 265 0 317 2 227 0
TR — T B 382 -5 175 -2 207 -3 159 -1
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FFFETE T B 398 -1 177 -1 221 0 156 -1
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RAT—T B 215 0 118 1 97 -1 97 -1
FREI—TH 371 -5 210 -4 161 -1 210 -4
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RIS —TH 309 -5 145 1 164 -6 129 -1
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IERET=TH 522 -3 266 -1 256 -2 227 -1
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TREE=TH 389 10 214 -2 175 -8 150 -2
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TRIEATH 1,017 2 539 3 478 -1 535 5
T8 AT H 541 16 271 -11 270 -5 295 -6
T8IEETH 1,534 11 774 3 760 8 663 3
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TRIEATH 418 -2 206 0 212 -2 138 -2
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AEHTH 105 -4 51 -3 54 -1 61 -2
AEEERLE 13 0 5 0 8 0 10 0
AREH]/\BR 111 -1 52 0 59 -1 50 -1
FEEAH 6 0 4 0 2 0 5 0
AEHBT{EH 61 0 27 0 34 0 27 0
REEFIR 10 0 5 0 5 0 7 0
REH4E SR 9 0 3 0 6 0 5 0
HE 11 0 4 0 7 0 9 0
REXESt 429 -4 196 -2 233 -2 240 -3
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[~ SHTERRR 28 0 10 0 18 0 18 0
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NI 15 0 10 0 5 0 14 0
NI 26 0 17 0 9 0 17 0
LERNFS 36 0 16 0 20 0 16 0
FEH 31 -1 17 -1 14 0 20 -1
=Bt st 294 -1 144 -1 150 0 187 0
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e CIE o 1,145 -3 536 -2 609 -1 424 -1
EIRET = A 3,910 -25] 1,892 -12] 2,018 -13[ 1,430 -2
fEINHh X g St 10,812 47| 5,197 -24] 5,615 23] 3,837 2
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